18

045 400,000 =
0.300 0.400)
0.40 600,000 656,826
FITTIT0) S S —
e 813,041
1,000,000
0.30 046 1,200,000 622,416
1,201,287
0.25 1,400,000
[7/11] [6/11]
[93.5%] [11.8%]
88.0 (L 5.0 4
896
900 100 103
100 e e
920 18
930 150 160
940 935
200
96.0 926 - 14.7
96.4 4
980 250
[8/11] [2/11]
1 [149,379 ] [100.9] 100,000 [1,42398 ]
100,000 (L 850 1,000.00 (=
120572 1,100.00 1,135.47
120,000 000 e
g 1,200.00
140,000 141248 1,300.00
"""""""""""" 149,379 95.0
1,400.00
w0000f % 1 0 el _________ R 1AL -] s
990
180,000 124,759 1000 | S 99.6 e 117311
L 176,616 d o 1009 d 160000
162983
200,000 105.0 1,700.00
[5/11] [11/11] [5/11]
|
H16 20 ! 18
|
1.0 20 !
|
| H16 20 5 10 460
11.8 2.2 1 50 510
| 10
|
|
|
6 1 3,648 ! 8
2 8l 3 13 133 152,721 149,379
|
|




